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Nouns quiz

Level A

1. Which word is a noun in this sentence?
| decided to catch the bus because | was late.
A) catch
B) bus
C) late
2. Which word is a noun in this sentence?
The queue was very long so | didn't wait.
A) queue
B) long
C) wait

3. Which word is a noun in this sentence?

There are no interesting programmes on tonight.

A) interesting
B) programmes
C) tonight

4. Which word is a noun in this sentence?

| need to find something that my brother will like.

A) need
B) find
C) brother
5. Which word is a noun in this sentence?
Don't be late for the concert.
A) late
B) for
C) concert

6. Which word is a noun in this sentence?
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London is very expensive to live in.

A) London

B) expensive

C) live

Which word is a noun in this sentence?
We need to find Steve before we can go.
A) find

B) Steve

C) before

Which word is a noun in this sentence?
| can't find my blue shirt.

A) my

B) blue

C) shirt

Which word is a noun in this question?
How long will the journey take?

A) long

B) journey

C) take

Which word is a noun in this question?
When are the windows being replaced?
A) When

B) windows
C) replaced
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Level B

1. Thereis no noun in this sentence: Come quickly.

A) True
B) False

2. There are 2 nouns in this sentence: Please pass the salt.

A) True
B) False

3. There are 2 nouns in this sentence: Don't leave your clothes on the floor.

A) True
B) False

4. There are 3 nouns in this sentence: The children are having a great time in the park.

A) True
B) False

5. There are 3 nouns in this sentence: Tom is always late for work.

A) True
B) False

6. There is one noun in this sentence: Where is the station?

A) True
B) False

7. A sentence always begins with a noun.

A) True
B) False

8. A noun describes a verb.

A) True
B) False
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9. Anoun is used for a thing.

A) True
B) False

10. Some nouns need a capital letter.

A) True
B) False
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Level C

1. Which word is a noun in this sentence?
They are forecasting rain later.
A) rain
B) later
C) forecasting
2. Which word is a noun in this sentence?
The sun is too bright to look at today.
A) bright
B) sun
C) look
3.  Which word is a noun in this sentence?
Please do not walk on the grass.
A) walk
B) Please
C) grass
4. Which word is a noun in this question?
Where is the old market?
A) old
B) market
C) Where
5. The plural of ‘child’ is:
A) childs
B) children
C) child
6. ‘Teeth'is:

A) singular
B) plural
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The plural of ‘goose’ is:

A) goose

B) geese

C) gooses

How many nouns are there in this sentence?
My brother gave me a book for my birthday.
A) 2

B) 3

C) 4

How many nouns are there in this sentence?

Please put the heavier books on the desk over there.

A) 2
B) 3
C) 4

How many nouns are there in this sentence?
| suggest getting the address from the website.
A) 2

B) 3
C) 4
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Answers

Level A

1. Which word is a noun in this sentence? | decided to catch the bus because | was late.

The correct answer is: B. ‘Bus’ is a noun in this sentence.

2. Which word is a noun in this sentence? The queue was very long so | didn't wait.

The correct answer is: A. ‘Queue’ is a noun in this sentence.

3. Which word is a noun in this sentence? There are no interesting programmes on tonight.

The correct answer is: B. ‘Programmes’ is a noun in this sentence.

4. Which word is a noun in this sentence? | need to find something that my brother will like.

The correct answer is: C. ‘Brother’ is a noun in this sentence.

5. Which word is a noun in this sentence? Don't be late for the concert.

The correct answer is: C. ‘Concert’ is a noun in this sentence.

6. Which word is a noun in this sentence? London is very expensive to live in.

The correct answer is: A. ‘London’ is a noun in this sentence.

7. Which word is a noun in this sentence? We need to find Steve before we can go.

The correct answer is:; B. ‘Steve’ is a noun in this sentence.
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8. Which word is a noun in this sentence? | can't find my blue shirt.

The correct answer is: C. ‘Shirt’ is a noun in this sentence.

9. Which word is a noun in this question? How long will the journey take?

The correct answer is: B. ‘Journey’ is a noun in this question.

10. Which word is a noun in this question? When are the windows being replaced?

The correct answer is: B. ‘Windows’ is a noun in this question.
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1. Thereis no noun in this sentence: Come quickly.

The answer is: A. True: ‘come’ is a verb and ‘quickly’ is an adverb.

2. There are 2 nouns in this sentence: Please pass the salt.

The answer is: B. False: ‘pass’is the only verb in this sentence.

3. There are 2 nouns in this sentence: Don't leave your clothes on the floor.

The answer is: A. True. The nouns are ‘clothes’ and ‘floor’.

4. There are 3 nouns in this sentence: The children are having a great time in the park.

The answer is: A. True. The nouns are ‘children’,’time’ and ‘park’.

5. There are 3 nouns in this sentence: Tom is always late for work.

The answer is: B. False: there are 2 nouns, which are “‘Tom’ and ‘work’.

6. There is one noun in this sentence: Where is the station?

The answer is: A. True. The noun is ‘station’.

7. A sentence always begins with a noun.

The answer is: B. False. A sentence can begin with many different word types.
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8. A noun describes a verb.

The answer is: B. False. A noun is a name for something or someone.

9. Anoun is used for a thing.

The answer is: A. True. A noun is used for a thing, a person, a place or a concept.

10. Some nouns need a capital letter.

The answer is: A. True: a noun needs a capital letter when it is a person’'s name, a place
name, a day of the week or a month. Also if it is at the beginning of a sentence.
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1. Which word is a noun in this sentence? They are forecasting rain later.

The correct answer is: A. 'Rain' is the noun in this sentence.

2. Which word is a noun in this sentence? The sun is too bright to look at today.

The correct answer is: B. 'Sun' is the noun in this sentence.

3. Which word is a noun in this sentence? Please do not walk on the grass.

The correct answer is: C. 'Grass' is the noun in this sentence.

4. Which word is a noun in this question? Where is the old market?

The correct answer is: B. 'Market' is the noun in this sentence.

5. The plural of child is:

The correct answer is: B. The plural of 'child' is 'children’.

6. ‘Teeth'is:

The correct answer is: B. 'Teeth' is a plural word. The singular is 'tooth'.

7. The plural of ‘goose’ is:

The correct answer is: B. The plural of ‘goose’ is 'geese'.
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8. How many nouns are there in this sentence? My brother gave me a book for my birthday.

The correct answer is: B. There are three nouns in this sentence - 'brother’, 'book’, 'birthday'.

9. How many nouns are there in this sentence? Please put the heavier books on the desk over
there.

The correct answer is: A. There are two nouns in this sentence - ' books' and 'desk'.

10. How many nouns are there in this sentence? | suggest getting the address from the website.

The correct answer is: A. There are two nouns in this sentence - 'address' and website'.
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